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,è
im

m
ed

ia
to

ch
e
P
(A

1
)
=

1 n
.
M

a
#

A
1
=

#
A

i

pe
r

og
ni

i
=

1,
..

.,
90

e
qu

in
di

P
(A

i)
=

1 n
.

O
ra

si
a

X
i
la

v.
a.

ch
e

va
le

1
se

si
ha

un
a

co
in

ci
de

nz
a

al
l’i

-e
si
m

a
es

tr
az

io
ne

,
0

al
tr

im
en

ti
.

L
e

X
i
so

no
v.

a.
di

B
er

no
ul

li
di

pa
ra

m
et

ro
1 n

(n
on

in
di

pe
nd

en
ti
!)

e
il

nu
m

er
o

di
co

in
ci
de

nz
e

su
90

es
tr

az
io

ni
è
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è
la

i-
es

im
a,

qu
in

di
,
po

ic
hé
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tà

ch
e

il
m

in
im

o
si
a

pi
ù
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